
 

𝑎) 0,9382 = 0,9000 
𝑏)28,2897 = 28,3000 
𝑔)100,5621 = 100,6000 
𝑑) 1,0625 = 1 
𝑒)80,0388 = 80 
𝑧)6,0999 = 6 
𝐸)200,18 = 200 
𝑦)567,911 = 568 
𝑡)0,0008 = 0 

 

𝑎)7,8932 = 7,9 
𝑏)85,0639 = 85,0600 
𝑔)0,1111 = 0,1000 
𝑑)0,9999 = 1 
𝑒)65,6788 = 65,68 
𝑧)721,8957 = 721,9 
𝐸)2,3845 = 2,3800 
𝑌)18,0966 = 18,1 
𝑡)55,6009 = 55,6000 

 

𝑎)հարուրերորդական 
𝑏)հազարերորդական 
𝑔)հազարերորդական 
𝑑)տասհազարերորդական 
𝑒)տասհազարերորդական 
𝑧)հարուրերորդական 

 

𝑎)1,2,3,4,5 
𝑏)1,2 
𝑔)5,6,7,8,9 



𝑑)0,1,2 
𝑒)0,1,2,3,4 
𝑧)0,1,3,4 

 

 

 


